REAR CAMBER SHIM

Installation Instructions R R
73 E #Q0564

Application ji Hj i %Y

SUZUKI SWIFT 2C13S/Z2C43S/ZC53S/ZC83S

Components N & i {4

(D Spacer B A .....eeeevveviiininnnnns
@ Bolt #84% (M12x1.25x40)
(3 Bolt ##4 (M10x1.25x40)
@ Spherical washer-Convex BkZZEE]-1.....12pcs
(® Spherical washer-Concave Zkf/Z5]-[1...12pcs @) @)

X2

0
0

x12 x12

)
O

0
0
(B

8 x4

Caution = $HI1H

eInstallation is recommended to be performed by licensed mechanics with necessary tools
to ensure safety. Incorrect installation may cause injury, damage to the product or vehicle.
ZERFRGERORMETENTURRZE  REERUEHAS  ERREREMSE -

*Note the routing of wires and cables before installation, or please refer to factory manual.
ZEAFBERL MRBNZERERUBENERSRHLE - ARBKFASEZEREFM -

«Tighten bolts and nuts frimly by using handtools, and with specified torque if mentioned.
ZEBRFCAFH I EREHEIZIERES - MARRIRFEKBRBERNE LH -

Instructions %z & 3 B

2. Disconnect ABS wires.
18 ABS K FE 4R i e LA 3RE o2 it T s 1L B

AXLE BEAM
3. Remove brake calipers, disks, hubs and dust shields.

PSR - BREE IR REREERNEERT -

FORWARD

SPACER 4. Install the spacers to axle beam.
LERBR E R -

5. Reinstall dust shields and wheel hubs using supplied
M12x1.25 bolts and spherical washers . (See figure 1)
EARMHEM12x1. 258844 Rk BZET] - ISR EE RIEEREIER -

HUB (2EEB—)

6. Reinstall brake disks.
AR EBIR AR AL [OINA 1S -

7. Reinstall brake calipers using supplied M10x1.25 bolts and
spherical washers. (See figure 2)
ERMHEM10x1.2588 4 kKB ZET] - iE-RIHELOERE - (2EE D)

(TO CALIPER)

1. Raise and safely support the vehicle to remove rear wheels.
1S E R ERE N2 -

E-MAIL info@hardrace.com

I AIRDIR AC EC
CHASSIS ' STEERING ' ALIGNMENT WEBSITE = WWW.HARDRACE.COM




